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Supplemental table 2: Assume a normally disturbed trait with 25% heritability, influenced by a QTN with MAF of 0.25 and with two possible genotypes in 1 
the population  (+/+  and +/M)  as  is  the  case  for  the CTS mutation.   Assume  that  the  average phenotype of  the +/+ population  is  ‐δ/2  and of  the +/M 2 
population is +δ/2. Assume also that the residual variance is 1.  The following table shows, for varying values of δ, the proportion of the phenotypic (P‐PV) 3 
and genetic variance  (P‐GV) explained by  the QTN  in  the general population.   Assume  that one selects  future AI sires amongst offspring of popular +/M 4 
heterozygous sires.  The following table shows, for five hypothetical phenotypic threshold values for selection (T=1,00‐2,00), the proportion of sons selected 5 
(Prop‐Sel), and amongst the selected sons, the ratio of carrier (+/M)  versus non‐carriers (+/+) (C/NC). Dams were assumed to be +/+ for simplicity. It can be 6 
seen that the observed ∼2:1 segregation ratio observed for CTS  implies a selection  intensity of the order of 0,02 for a QTN that accounts for ∼0,05 of the 7 
genetic variance in the general population.  The corresponding cells are highlighted in gray. 8 


